EARAROBEEIERT — 2 N— IBISH —F

2018558120 (£) 2EF=7H

AR REEEXY

REEF 4t [HETE] i

‘ [R1%] & ‘ [REBE] — | Z (A) 18000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S : 4 3 | AisiE 1:46.7 13-13-12 [34.3| 85.1 | 3 446 | EET (EH)
118115 Loy—+FK—-0O 54.0 (=) (+2) %) GilL—>>9
X THANAN B:iLTZRyi BRTF— L
i = 5 4t 3 | ALHES 1:46.9 15-14-15 [34.2| 83.0 | 10 | 430 |%t= (E#)
21816 d=Ib7>T 42— 54.0 (1 1/2) (-4) EHER%
LixLTHANAN BFvyFHFI—IK () #AI—-KL—a>@AET 7
¢ 7 = = 4 3 | mEEE 1:46.9 3-5-5 35.1| 83.2 | 4 438 | BERANME (SE)
3Rl 5| /NATATI—T 54.0 (h+) we | B FrFoL—vry
LR THAANXN BUSZNTEUT J—HrTr—L
: —: . # 3 | EHEEE 1:47.0 1-1-1 35.6 | 82.3 | 11 464 | FRFEE ()
41111 Fo2=Fa="" 5.0 (1/2) (-4) VAIIEI%.‘
LNNLTSY B R7g—-~O0—-F TE FE
¢ 4 3 | C. bx—J 1:47.2 16-16-16 [ 34.3| 79.9 | 1 442 | BHE] (E#)
517]14] /YA b1 54.0 A 1/4) © | @ FvavrTr-a
g/ w7 BiARY-—-2 J—YTr—LA
D 4 3 | BUBEHE 1:47.2 6-8-8 |35.1| 80.0 | 5 396 | RHEMEE ()
6 3|1 F =K1 b A52.0 (5 8) Lo | BRI
R:Z7)—>b—0O— B:A(77F21—2 H 405
. A 4 3 | KEFHRIR 1:47.5 9-8-8 35.4| 77.0 | 2 a6 | BAR (EH)
7 4 TH—Fa2>U>9 54.0 (1 1/2) (-8) (#%) JV—>T7—L4L
WF—TTUTLTF BiULTLy b /T4
. AIEEH : 11— [ DN E S )]
gl1lo| TV /TFa—F i 3 Il 1.(427).8 9-11-10 | 35.5| 73.9 | 17 (4_328) Pl
R:TZRT 88— BT % a8 777 BERS
# 3 | BEET 1:47.8 14-14-14 [35.2| 73.8 | 15 | 458 |EFZH (i)
9f7[13 ¥ THE> 54.0 () ey | T
LixLIAMO— BiALTLAZR TERYUS
. 4 3 | SEAA 1:48.3 17-17-17 [ 35.1| 68.5 | 14 | 422 |BWUEE (EiH)
Eﬂ 7|AvvoEeHY .0 3) (-g) | HIABRX
L:ZFA4d—I K B:wy> 277 BT 7 —L4
“ = B3 | ENEAFE 1:48.8 6-6-5 |37.0| 65.4 | 12 | 436 |#HAMB (EiH)
15|10 71Y—1U7 54.0 ® (12 |FEABE
PR YIYIXIZX B:RZ—JIA b I MEs
oA 3 4 3 | FlaEX 1:48. 9-10-12 | 36.4| 64.7 | 6 48 | BIEEE (EH)
N v LAF 54.0 (5 E) (-6) |ALAAEA
RTAY>TFyva B:LAFFT7ITINL EEFL BRI
# 3 | dEREE 1:49.0 5-6-7 37.1| 63.6 | 13 404 | EBFUHE— (EH)
773 b 54.0 (1 1/4) (c1p) | HEER
RiFa—TAN b BiUTURy b aiutie]
S5 43 | IERHE 1:49.7 6-3-2 |38.1| 585 | 9 434 | TIRER (5EiA)
KT IIF 54.0 @ © | pFvIE-LFL 2
LN=V754 B:T71=WTVav?y RE 5
- 4 3 | REES 1:49.9 9-11-10 | 37.6 | 55.9 | 16 452 | REE(— (GE)
Y=Z—-a21-7 54.0 (1 1/2) o) | B 7Y75Tr—n
LI INATA—H— FRIN—TI4—> 799577 — I
S = A B 3 | EHHRBE 1:50.1 3-3-4 |38.4|55.4 | 7 468 | REEE (FiH)
RUa—LFAN 54.0 1) () |EBEZ
L:RY—L¥vy—=— B:JUvELTIUT AALTINT 7 —L
— N N Alllfaie A :51. 20— . . ERR (EH)
SANSE—H—I 3 | Bl o SR R e B e I
RLiANT7z—"9) B:¥>av/E— BREE  4Um
@ 71 L
) 47.4-35.3
NaO>24 4L | 12.8-11.2-11.5-11.9-11.9-12.1-11.5-11.9-11.9
® I —F—EBIERL
13—7—
2al=7F= 1,9(5,11)6(3,10,17) (2,4,8,12)15,13,16,14,7
30—+— 1,9(17,11)5(6,10) (3,4)12(2,8)15(13,16) -14-7
41—+ — 1(9,17)11(5,10)6(3,4) (2,8) (12,15)13,16,14-7
[ RN
B OB 15 480M 714K 15-16 5,860 e & 8-8 4,190M &R 5-15-16 36,120/
1 B 15 200 =15 670M B & 15-16 19,460M K31 15-16-5 261,840
16 2,460/ 5-16 6,980 B H 15-16 27,330M
5 190M9

ABICOVWTRDTEEERROODE. TR LIV,




